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English 1st Paper  

 

Unit – 4,5 

1. Choose the best answer  = 10 

2. Questions answer  = 10 

3. Fill in the blank  = 10 (Prescribed books model : (6-10)  

4. Paragraph  = 10 

Completing story  = 10 

                                      Total = 50  

Paragraph :  

 a) A Tea Stall  

 b) Your School Magazine  

Completing Stories :  

 a) A man and his goose  

 b) A fox without tail    

 

English 2nd Paper  

 

1. Preposition   = 0.58=4 

2. Substitution table   = 14=4 

3. Right form of the verbs   = 0.58=4 

4. Complete the text using words  = 0.510=5 

5. Formal Letter    = 18=8 

                                                                            Total =25  
Formal Letter :  

1 & 2 from Syllabus 

 wk‡ivbvg 

M`¨  : 1) kã †_‡K KweZv  

2) cvwL   

3) wcZ… cyiæ‡li Mí    

c`¨ :   1) †kvb GKwU gywRe‡ii †_‡K   

2) mevi Avwg QvÎ   

mncvV :   †ZvZvi Kvwnbx  
 

eûwbev©Pbx cÖkœ 201 = 20wU  

iPbvg~jK : M`¨ 2Uv †_‡K 1Uv 110= 10 

c`¨ 2Uv †_‡K 1Uv 110 = 10 

mncvV 1Uv †_‡K 1Uv 110 = 10 

                               ‡gvU = 50 



 wk‡ivbvg 

e¨vKiY :  kã I c`  

KviK I wefw³, m¤̂Ü I m‡¤̂vab c`  

kãiƒc 

GKB k‡ãi wewfbœ A‡_©i cª‡qvM (A¼-‡PvL)     

mvivsk :  5,6  (†evW© eB) 

A_ev  

mvigg© : 1,2 (†evW© eB) 

fvem¤úªmvib :  4,5 (†evW© eB) 

e¨w³MZ cÎ :  5,6 (†evW© eB) 

e¨vKiY Ask :  110= 10 

mvivsk/mvigg© :  51= 5 

fve¯úªmvib :  51= 5 

e¨w³MZ cÎ :  51= 5 

                            ‡gvU = 25 

cvwUMwYZ 

Aa¨vq wk‡ivbvg 

Aa¨vq : 1  
(g~j`Ë Ag~j` msL¨v 

Aby- 1.1 (D`vniY I KvRmn) 

Aa¨vq : 2 
(mgvbycvZ I jvf ÿwZ)  

Aby- 2.2 (D`vniY I KvRmn) 

exRMwYZ 

Aa¨vq : 5 
(exRMwYZxq m~Îvejx I cÖ‡qvM)  

Aby- 5.1 (D`vniY I KvRmn) 

R¨vwgwZ : 

Aa¨vq : 8 

(mgvšÍivj mij‡iLv)  

Dccv`¨v-1  

Aby- 8 (D`vniY I KvRmn) 
 

 

gvbe›Ub :  

m„Rbkxj 4wU cÖkœ †_‡K †h †Kvb 3wU = 103=30 

eûwbev©Pbx Afxÿv 20wU                = 120=30 

                                               ‡gvU = 50 

ÿ

 

Aa¨vq wk‡ivbvg 

cÖ_g Aa¨vq :  cvV- 4 : wkiK 

cvV-5 : Bgvb gydvmmvj  

wØZxq Aa¨vq :  cvV-3 : C‡`i mvjvZ  

cvV-4 : mvjvZzj Rvbvhv  

cvV-5 : mvjvZzZ Zvivwen  

cvV-  : mvjvZzZ Zvnv¾y`  

 

gvbe›Ub :  

m„Rbkxj 4wU cÖkœ †_‡K †h †Kvb 3wU = 103=30 

eûwbev©Pbx Afxÿv 20wU                = 120=30 

                                               ‡gvU = 50  



ÿ

 

Aa¨vq wk‡ivbvg 

cÖ_g Aa¨vq :  Ck¦‡ii ¯^iƒc  

wØZxq Aa¨vq :  ag©MÖš’  

Z…Zxq Aa¨vq :  wn› ỳa‡g©i ¯^iƒc I wek̂vm  

 
 

gvbe›Ub :  

m„Rbkxj 4wU cÖkœ †_‡K †h †Kvb 3wU = 103=30 

eûwbev©Pbx Afxÿv 20wU                = 120=30 

                                               ‡gvU = 50  

  

Aa¨vq wk‡ivbvg 

Z…Zxq :   cwiev‡i wkïi †e‡o IVv  

PZz_© :  evsjv‡`‡ki A_©bxwZ  

 

gvbe›Ub :  

m„Rbkxj 4wU cÖkœ †_‡K †h †Kvb 3wU = 103=30 

eûwbev©Pbx Afxÿv 20wU                = 120=30 

                                               ‡gvU = 50  

 

Aa¨vq wk‡ivbvg 

Z…Zxq :   Dw™¢‡`i evwn¨K ˆewkó¨  

mßg :  kw³i e¨envi  

beg :  Zvc I ZvcgvÎv  

 

gvbe›Ub :  

m„Rbkxj 4wU cÖkœ †_‡K †h †Kvb 3wU = 103=30 

eûwbev©Pbx Afxÿv 20wU                = 120=30 

                                               ‡gvU = 50  

 

Aa¨vq wk‡ivbvg 

cÂg :    wkÿvq B›Uvi‡b‡Ui e¨envi  

 

gvbe›Ub :  

m„Rbkxj 3wU cÖkœ _vK‡e     = 53=15 

eûwbev©Pbx Afxÿv 10wU      = 110=10 

                                    ‡gvU = 25  

 


